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% Mercury (green)

vin = 8;

ve = 63

r = 1800;

R = 2440;

% P-wave ¥ )
alpha P crit = asind(zr/R); wludate ﬂﬂp60ﬂju1L

alpha = alpha P crit:0.01:90; dﬁ%ﬂ{, od  vetr

delta = 180 - 2.*alpha;
dm = 2*R.*cosd(alpha);
t = dm/vm;

plot(delta,t,'-.");

title('P and PKF travel times as function of angular distance for Merury [dash-dot]
and Mars [cont]');

xlabel ('angular distence [degrees]');

ylabel('travel time [s8]');

hold on

% PKP=-wave

alpha = 0:0.1:alpha P crit;

epsilon = asind(R/r.*sind(alpha)) —'alpha;
dm = (2*r.*sind(epsilon))./sind(alpha);
beta = epsilon + alpha;

gamma = asind((vc.*sind(beta))/vm);

dc = 2*r.*cosd(gamma) ;

delta = 180 + 2*beta - 2*alpha - 2*gamma;
t = de/ve + dm/vm;

plot(delta,t,'-.");
hold on
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% Mars (red)

vim = 10;
ve =2 11
r = 1200;
R = 3400;
% P-wave

alpha P crit = asind(rz/R);

alpha alpha P_crit:0.01:90;
delta = 180 - 2.*alpha;

dm = 2*R.*cosd(alpha);

t = dm/vm;

plot (delta,t);
heold on

% PKP-wave _

L@Luﬂtﬂ*e fip(AﬁbkﬂL
dpémz ol weutor

alpha = 0:0.01:alpha P crit;
epsilon = asind(R/r.*sind(alpha)) - alpha;
dm = (2*r.*sind(epsilon))./sind(alpha);
beta = epsilon + alpha;
for n=1:length(beta)

if (beta(n) <= asind(vm/vc))

i = n;

end
end
alpha PKP_crit = alpha(i);
alpha = 0:0.1:alpha PKP_crit;
epsilon = asind(R/r.*sind(alpha)) - alpha;
dm = (2*r.*sind(epsilon))./sind(alpha);
beta = epsilon + alpha;
gamma = asind ((vc.*sind(beta))/vm) ;
de = 2*r.*cosd(gamma) ;
delta = 180 + 2*beta - 2*alpha - 2*gamma;

t = de/ve + dm/vm;

plot(delta,t);
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% Mars

R = 3400000; % [m]

rho = 3930; % [kg/mr3]

G = 6.67 * 104-11: % [m"3/ (kg s)]

Z = 0:1000:R;

Pl = 4/3*%pi*rho”2*G,.* (R*z -0.5.*z./2);

P2 = P1 - 24*10%9; ek He o pressue W Mavs
P3 = abs(P2); :

[a,b] = min(P3); Upsest Ao WGP

Mars_depth_of 24GP = z(b) /1000
Mars_r_of 24GP = R/1000 - Mars_depth of 24GP

% Moon

R = 1740000; % [m]

rho = 3350; % [kg/mr3]

G = 6.67 * 10~-11; % [m~3/7 (kg s)]

z = 0:1000:R;

Pl = 4/3*pi*rhof2*G.* (R*z -0.5.*z./2);
P2 = P1 - 24%10A9; | ;
; +he ves, w
P3 = abs (P2); pnol pressure. (w Moon
[a,b] = min(P3); Aojent  fo MU GPx

Moon_max_pressure = Pl(length(P1))
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